[image: https://skolicans.files.wordpress.com/2019/10/slika-12.jpg?w=564]
[image: https://skolicans.files.wordpress.com/2019/10/slika-13.jpg?w=567]

[image: https://skolicans.files.wordpress.com/2019/10/slika-14.jpg?w=530]

[image: https://skolicans.files.wordpress.com/2019/10/slika-15.jpg?w=568]
[bookmark: _GoBack]
image1.jpeg
MnoZenje i deljenje racionalnih brojeva
zadaci za vezbanje

Lizratunati:

n)sr‘sz
o=

1905-32





image2.jpeg
3.dzyrsiti radunske operacije:

1)23,486 - 100 6)45,22:1000 =
2)521,23:100 = 748231100 =

3)35.24- 100 8)0,007:10 =

4)123,456:10 9)0,001212 1000 =

5744710 = 10)521,23:100 =
4dzratunati:

14621:10+1325-100=  6)(31,99-1000=99,9):10 =

2)100- (284-121) = 7) (1000- 0,15 - 25,26:100) - 10 =
3)(3675-1,112):10 8) (13,45 +12,9) 10 + (78,12 23):10 =
4)(46,21:104+52) 100 = 9) (16,2210~ 100) - 17,23 =

5)(25:1000 + 14) - 100 = 10 (2016:100 +162) + 14,15
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Szratunati:

D143-22= 1)065:13=

2)226-1252= 12)5,625:025 =

3)48-5: 13)1,024:064 =

4002-104

512003

605007 = 16)118:0,025 =

7459 1738412

811-22= 18)80,5:0,23 =

9)053-2,17 19)25,25:125

10)0,005-0,02 = 20)4,824:0,9 =

6.dzratunati:
6)125:05+5- (24:6=075) =
7)21:03-035-2

3)5427+0,14:7= 8) (135 - 80,4):2,5+ 15,15 =

4)(255-149)-025 922-55-121:1,1
5)1818:0,03-44-5= 1001652+ [44- (127 = 12)] 10 =
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7.Izratunati vrednost izraza:

DE-05+13= u)(s} 2422):08=
Doz+2+12-075= 12) (12+18):05 -0,
H65-65= 1315445 (12-5:5
9I+16:05-02-1 14) (Z:3+32) - (075:029) =

1;+36:025-315=
62508- 14:07 = 16 (12+075): (1
7n38-1:(22-15)=
8 (12+36):025+313=
956-1 (3;—2,5):

|7)3,5+3v(5§-3

10)23:075+1 1;(1,24-;):





